Computer Based Examination System

Exported On * 2023/09/04 16:39:00

Title * Question Paper Answer Key

OES Exam * GPSC05202336 / Legal Officer / Completed / 2023-09-03

1 Question Description Whoever causes death by doing an act with the intention of causing death, or with the intention of causing such bodily injury as is

likely to cause death or with the knowledge that he is likely by such act to cause death , commits the offence of -----

A Murder

B Culpable Homicide

c Culpable homicide by causing death of person other than person whose death was intended
D Causing death by negligence

E None of the above

Correct Answer B

Marks 1



Question Description Which of the following is correct under IPC?

A In Criminal Conspiracy there is no distinction between principal and accessory
B In Criminal Conspiracy there is a distinction between principal and accessory
c There has to be a distinction between principal and accessory in every offence
D All of the above

E None of the above

Correct Answer A

Marks 1

Question Description Constitution of India has introduced single citizenship on the pattern of

A Britain

B Canada

c USA

D Both a and b

E None of the above

Correct Answer A

Marks 1



Question Description What is the punishment prescribed under sec.174 A of Indian Penal Code for non appearance in response to a proclamation under

sec.82( 1) of Criminal Procedure Code

A Imprisonment for a term which may extend to one year or with fine or with fine or with both
B Imprisonment for a term which may extend to two years or with fine or with fine or with both
c Imprisonment for a term which may extend to three years or with fine or with both

D Imprisonment for a term which may extend to seven years or shall also liable to fine.

E None of the above

Correct Answer C

Marks 1

Question Description A hangman who hangs the prisoners pursuant to the order of the court is exempt from criminal liability by virtue of:
A Section 77 of IPC

B Section 78 of IPC

c Section 79 of IPC

D Section 76 of IPC

E None of the above

Correct Answer B

Marks 1



Question Description Sec.8 of the Indian Evidence Act deals with

A Conduct

B Motive

c Preparation

D All of the above

E None of the above

Correct Answer D

Marks 1

Question Description A dying declaration

A Is not a substantive piece of evidence

B Can form the sole basis of conviction without any corroboration by independent evidence
c Can form the basis of conviction only on corroboration by independent witness
D It can be used as corroborative or contradictory but not sole basis

E None of the above

Correct Answer B

Marks 1



Question Description A Judgment contemplates a stage -------- passing of a decree

A After

B Prior to

c Simultaneous

D Any of the above

E None of the above

Correct Answer B

Marks 1

Question Description How many days an executive magistrate, on whom powers of judicial magistrate have been conferred, can pass an order of remand

of accused under Code of Criminal Procedure ?

A 60 days

B 15 days

(6 14 days

D 7 days

E None of the above
Correct Answer D

Marks 1



10 Question Description A temporary injunction can be granted to a party establishing :

A That there is prima facie case in his favour
B Irreparable injury to him in case injunction is not granted
c Balance of convenience in his favour
D All of the above
E None of the above
Correct Answer D
Marks 1
11 Question Description Under Sec.436 A of Criminal Procedure Code, a maximum period for which an under trial prisoner can be detained is
A 90 days
B 60 days
c One half of the maximum period of imprisonment specified for that offence under that law
D 180 days
E None of the above
Correct Answer C

Marks 1



12 Question Description Which of the following statements are correct?

i. The preamble embodies the intentions of the founding fathers and objectives of the Constitution
i. The word Socialist in the preamble aims to eliminate inequality in political and religious matters
ii. The Solemn resolution in the preamble of the Constitution of India is made in the name of the people of India

iv. The Preamble of the Constitution of India is solemnly resolved to secure to its people Fundamental Rights , Fundamental
Duties and Directive Principles

Choose the correct answer from the code given below:

A Only (i) and ( ii ) are correct

B Only (i) (i1) and (iii) are correct
c Only (i) and (iii) are correct

D Only (iii) and (iv) are correct

E None of the above

Correct Answer C

Marks 1



13 Question Description Admissions are not conclusive proof of the matters admitted but they may operate as

A Res Judicata
B Estoppels
c Res Gestae
D All of the above
E None of the above
Correct Answer B
Marks 1

14" Question Description The property which is not liable to attachment and sale in execution of a decree
A Government securities
B Promissory note
c Books of account
D Bond
E None of the above
Correct Answer C

Marks 1



15 Question Description Sec. 82 of Indian Penal Code enunciates

A Presumption of Fact
B Irrebuttable presumption of law
c Rebuttable presumption of law
D All of the above
E None of the above
Correct Answer B
Marks 1
16 Question Description A is charged with travelling on a train without a ticket. The burden of proving that he had a ticket is on
A The ticket collector
B A
C The Railways
D All of the above
E None of the above
Correct Answer B

Marks 1



17

18

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Art.50 of the Indian Constitution deals with the matter of

Separation of Judiciary from Executive

Equal justice and free legal aid

Promotion of international peace and security

Uniform civil code for the citizens

None of the above

A
1

Inherent powers of the court can be exercised under C.P.C

For the ends of justice or to prevent abuse of the process of the court

To help the plaintiff only

To help the defendant only

Either b or ¢

None of the above



19

20

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Under Sec.203 of Criminal Procedure Code After considering the statement on oath of the complainant and witnesses, and the

result of the investigation or inquiry, the magistrate is of opinion that there is no sufficient ground for proceeding,

He shall dismiss the complaint

He shall discharge the accused

He shall acquit the accused

He shall adjourn the case

None of the above

Decree includes

Any order of dismissal for default

Rejection of plaint

Determination of question within section 144

Both b and ¢ above

None of the above



21

22

Question Description

A

Correct Answer

Marks

Question Description

Correct Answer

Marks

Which of the following section of Code of Criminal Procedure impliedly deals with Zero FIR
Sec.154(2)
Sec.155(2)
Sec.156(2)
Sec.157(2)

None of the above

C
1

The Strength of the Legislative Council of any state cannot exceed --------- of the total strength of the Legislative Assembly. Fill the
blank by using the correct option.

One —half
One —third
One —fourth
One —fifth

None of the above



23 Question Description Whoever being in any manner entrusted with property, or with any dominion over property, dishonestly misappropriates or
converts to his own use that property or dishonestly uses or disposes of that property in violation of any direction of law
prescribing the mode in which such trust is to be discharged or of any legal contract, express or implied which he has made
touching the discharge of such trust or wilfully suffers any other person so to do, commits -----

A Dishonest misappropriation of property
B Criminal breach of trust

c Cheating

D Mischief

E None of the above

Correct Answer B

Marks 1



24

25

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

The authority to specify as which castes shall be deemed to be Scheduled Castes, rests with the following
Commission for Scheduled Castes and Tribes

Prime Minister

Governor of the State

President

None of the above

In which of the following offences the court has power to convert summons case into warrant case under Sec.259 of CrPC
Offence punishable more than two years

Offence punishable more than three years

Offence punishable more than one year

Offence punishable more than six months

None of the above



26 Question Description Under which Amendment Act of Criminal Procedure Code The investigation in relation to an offence under section 376, 376 A,
AB, B,C, D, DA, DB or E of IPC shall be completed within two months

A 2018

B 2015

c 2013

D 2009

E None of the above
Correct Answer A

Marks 1



27 Question Description A confession made by a person while in police custody is inadmissible under :

A Sec.26 of the Evidence Act
B Sec.27 of the Evidence Act
c Sec.25 of the Evidence Act
D Sec.30 of the Evidence Act
E None of the above

Correct Answer A

Marks 1



28 Question Description Which of the following statements is correct?
i. The territory of the Indian federation may be altered by the Parliament by a simple majority
i. The consent of a State Legislature is necessary before Parliament before Parliament redistributes its territory

i. The President’s recommendation is necessary for introducing in Parliament a bill on redistributing territory of any state

v. The President must receive the states opinion before recommending a bill on altering the name of the state

Select the correct answer using the codes given below

A Only i

B iand ii

c i, iii and iv

D i and iii

E None of the above
Correct Answer D

Marks 1



29 Question Description Which is not a precondition to raise a obligatory presumption under Sec.113 B of the Evidence Act?

A The accused is being tried for the offence under Sec.4 of the Dowry Prohibition Act 1961
B The deceased woman was subjected to cruelty or harassment by her husband or his relative
c Such cruelty or harassment was for or in connection with any demand for dowry
D Such cruelty or harassment was soon before her death
E None of the above
Correct Answer A
Marks 1
30 Question Description Whoever drives any vehicle or rides, on any public way in a manner so rash or negligent as to endanger human life shall be

punished under Sec.279 of IPC , with imprisonment of either description for a term which may extend to ----

A One year or with fine which may extend to one thousand rupees or both

B Two years or with fine which may extend to one thousand rupees or both
c Six months or with fine which may extend to one thousand rupees or both
D Seven years or with fine

E None of the above

Correct Answer C

Marks 1



31 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘I have to
reduce myself to the level of the poorest of the poor. That is what I have been trying to do for the last fifty years or more, and so I
claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi rejected property as something
antithetical to spiritual progress, Marx did not reject property as such, he merely rejected property based on exploitation and
because it fosters inequality in society. Second major difference was around the problem of means. Though the entire tenor of
Gandhi was against property, he too acquiesced in the institution, albeit reluctantly, by conceding one’s right to earn property by

lawful means.
Gandhi’s basic objection to property differed from that of Marx because unlike the latter, he saw it as being

he means of exploitation

the cause of social inequality
the hinderance to spiritual growth
earned by unlawful means

None of the above

C
1



32 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘I have to
reduce myself to the level of the poorest of the poor. That is what I have been trying to do for the last fifty years or more, and so I
claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi rejected property as something
antithetical to spiritual progress, Marx did not reject property as such, he merely rejected property based on exploitation and
because it fosters inequality in society. Second major difference was around the problem of means. Though the entire tenor of
Gandhi was against property, he too acquiesced in the institution, albeit reluctantly, by conceding one’s right to earn property by
lawful means.

Identify the word or phrase from the passage that comes close to “give in to” or “quietly accept”
albeit reluctantly

fosters

acquiesced

conceding

None of the above

C
1



33 comprehension Read the following passage and answer the questions given below: -

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘I have to
reduce myself to the level of the poorest of the poor. That is what I have been trying to do for the last fifty years or more, and so I
claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi rejected property as something
antithetical to spiritual progress, Marx did not reject property as such, he merely rejected property based on exploitation and
because it fosters inequality in society. Second major difference was around the problem of means. Though the entire tenor of
Gandhi was against property, he too acquiesced in the institution, albeit reluctantly, by conceding one’s right to earn property by

lawful means.

Question Description Property being the means of exploitation and the basis for fostering inequality were the two criteria which defined Marx’s ------------
-—--to it.

A perception

B objection

c obduration

D reluctance

E None of the above

Correct Answer B

Marks 1



34 Comprehension Read the following passage and answer the questions given below: -

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘I have to
reduce myself to the level of the poorest of the poor. That is what I have been trying to do for the last fifty years or more, and so I
claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi rejected property as something
antithetical to spiritual progress, Marx did not reject property as such, he merely rejected property based on exploitation and
because it fosters inequality in society. Second major difference was around the problem of means. Though the entire tenor of
Gandhi was against property, he too acquiesced in the institution, albeit reluctantly, by conceding one’s right to earn property by

lawful means.

Question Description Read the following statements and choose their logical cause-effect sequence apparent from the options given below: -
(i) Subsequently Gandhi acquiesced in the institution, provided it was earned lawfully.
(i1)Marx did not reject property per se but as the basis for exploitation and inequality.
(ii1) Gandhi had rejected property as antithetical to spiritual progress.
(iv) Gandhi had read Marx and claimed to be a foremost communist.

2 (iii); (iv); (ii); (D)
= (iii); (i1); (1); (iv)
© (iii); (id); (iv); (D)
= (iv); (iii); (ii); (i

E None of the above
Correct Answer A

Marks 1

35



36

Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions given below: -

It is very difficult to say how far Gandhi was influenced by Marx. He himself claimed that he had read Marx. He wrote: ‘I have to
reduce myself to the level of the poorest of the poor. That is what I have been trying to do for the last fifty years or more, and so [
claim to be a foremost communist.” The differences are clear on two points. First, while Gandhi rejected property as something
antithetical to spiritual progress, Marx did not reject property as such, he merely rejected property based on exploitation and
because it fosters inequality in society. Second major difference was around the problem of means. Though the entire tenor of
Gandhi was against property, he too acquiesced in the institution, albeit reluctantly, by conceding one’s right to earn property by

lawful means.

Match the words from the passage with their near synonyms, using the
options given below: -

1. foster (A) approach
2. antithetical (B) nurture
3. concede (C) hesitant
4. reluctant (D) give in
(E)opposed

1-(B); 2- (E); 3- (D); 4- (A )
1-(E); 2- (C); 3- (B); 4- (A)
1-(D); 2- (A); 3- (B); 4- (C)
1-(B); 2- (E); 3- (D); 4- (C)

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

The distinction between medicines and sensual drugs is simple. Sensual drugs are those that the body has no need for, but that give
the user a strong sense of pleasure. Sensual drugs activate the brain’s pleasure centres directly or activate them through chemical
mimicry...The brain governs sensations, moods, thoughts and actions, not by a magical process but by an incredibly complex series
of chemically regulated controls. These are easily upset by sensual drugs. This disturbance is apparent in the effects of the sensual
drugs on the mechanism that controls pleasure and satisfaction. A drug user’s craving for the brain’s pleasure reflexes seems to be
weakened by artificial stimulation... Information from the senses still reaches the brain, but the brain is unable to evaluate and

interpret it as pleasure. In contrast, naturally attained pleasures enlarge the sense of satisfaction and can be repeated indefinitely.
As compared to medicinal drugs, the sensual drugs are undesirable because first and foremost

they activate brain’s pleasure centres

they upset the brain’s control system

they are not needed by the body

they artificially stimulate the brain

None of the above

C
1



37 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

The distinction between medicines and sensual drugs is simple. Sensual drugs are those that the body has no need for, but that give
the user a strong sense of pleasure. Sensual drugs activate the brain’s pleasure centres directly or activate them through chemical
mimicry...The brain governs sensations, moods, thoughts and actions, not by a magical process but by an incredibly complex series
of chemically regulated controls. These are easily upset by sensual drugs. This disturbance is apparent in the effects of the sensual
drugs on the mechanism that controls pleasure and satisfaction. A drug user’s craving for the brain’s pleasure reflexes seems to be
weakened by artificial stimulation... Information from the senses still reaches the brain, but the brain is unable to evaluate and
interpret it as pleasure. In contrast, naturally attained pleasures enlarge the sense of satisfaction and can be repeated indefinitely.

Identify from the options provided below, the phrase that does not aptly relate to the functioning of sensual drugs
chemical mimicry

providing sense of pleasure

unnatural stimulation

magical process

None of the above



38 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

The distinction between medicines and sensual drugs is simple. Sensual drugs are those that the body has no need for, but that give
the user a strong sense of pleasure. Sensual drugs activate the brain’s pleasure centres directly or activate them through chemical
mimicry...The brain governs sensations, moods, thoughts and actions, not by a magical process but by an incredibly complex series
of chemically regulated controls. These are easily upset by sensual drugs. This disturbance is apparent in the effects of the sensual
drugs on the mechanism that controls pleasure and satisfaction. A drug user’s craving for the brain’s pleasure reflexes seems to be
weakened by artificial stimulation... Information from the senses still reaches the brain, but the brain is unable to evaluate and

interpret it as pleasure. In contrast, naturally attained pleasures enlarge the sense of satisfaction and can be repeated indefinitely.

A drug user’s craving for pleasure reflexes is undermined due to
its artificial stimulation

weakening of the reflexes

failure of the brain to process sensations

all these

None of the above



39 comprehension Read the following passage and answer the questions given below: -

The distinction between medicines and sensual drugs is simple. Sensual drugs are those that the body has no need for, but that give
the user a strong sense of pleasure. Sensual drugs activate the brain’s pleasure centres directly or activate them through chemical
mimicry...The brain governs sensations, moods, thoughts and actions, not by a magical process but by an incredibly complex series
of chemically regulated controls. These are easily upset by sensual drugs. This disturbance is apparent in the effects of the sensual
drugs on the mechanism that controls pleasure and satisfaction. A drug user’s craving for the brain’s pleasure reflexes seems to be
weakened by artificial stimulation... Information from the senses still reaches the brain, but the brain is unable to evaluate and
interpret it as pleasure. In contrast, naturally attained pleasures enlarge the sense of satisfaction and can be repeated indefinitely.

Question Description As against the pleasures from sensual drugs, the natural pleasures------- Complete the above statement by choosing an appropriate

option from those provided below:

A are artificially stimulated

B debilitate the pleasure reflexes
c disturb mental processes

D amplify the sense of satisfaction
E None of the above

Correct Answer D

Marks 1



40 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

The distinction between medicines and sensual drugs is simple. Sensual drugs are those that the body has no need for, but that give
the user a strong sense of pleasure. Sensual drugs activate the brain’s pleasure centres directly or activate them through chemical
mimicry...The brain governs sensations, moods, thoughts and actions, not by a magical process but by an incredibly complex series
of chemically regulated controls. These are easily upset by sensual drugs. This disturbance is apparent in the effects of the sensual
drugs on the mechanism that controls pleasure and satisfaction. A drug user’s craving for the brain’s pleasure reflexes seems to be
weakened by artificial stimulation... Information from the senses still reaches the brain, but the brain is unable to evaluate and

interpret it as pleasure. In contrast, naturally attained pleasures enlarge the sense of satisfaction and can be repeated indefinitely.

Identify the nearest antonym for ‘artificial stimulation’, in the sense used in the passage
natural tranquilizer

manmade de-energiser

unnatural sedative

natural excitement

None of the above



41 Question Description Lavasa', the first private hill station of India, is located in which state?

A Bihar

B Nagaland

c Maharashtra

D Odisha

E None of the above
Correct Answer C

Marks 1



42 Question Description The Geological Survey of India (GSI) has discovered India's largest natural arch in which state?

A Jharkhand
B Odisha
c Nagaland
D Tripura
E None of the above
Correct Answer B
Marks 1
43 Question Description In which city was the GST Bhawan inaugurated?
A Bishalgarh
B Udaipur
c Agartala
D Bhubaneswar
E None of the above
Correct Answer C

Marks 1



44 Question Description On which date is World Wide Web Day celebrated every year?

A August 6
B August 1
c September 1
D July 1
E None of the above
Correct Answer A
Marks 1
45 Question Description Which Indian state has announced the initiation of 'Project Rail' to ensure quality education?
A Jharkhand
B Karnataka
c Nagaland
D Telangana
E None of the above
Correct Answer A

Marks 1



46 Question Description Which country has become the latest team to qualify for the 2024 ICC Men's T20 World Cup?

A New quaba
B silvania
c Papua New Guinea
D Singapore
E None of the above
Correct Answer C
Marks 1

47" Question Description What is the name of the new type of Urea launched by PM Modi during his visit to Rajasthan?
A Sulphur Urea
B Neem Urea
c Urea Gold
D Nitrogen Urea
E None of the above
Correct Answer C

Marks 1



48 Question Description When is World Chocolate Day celebrated worldwide?

A July 07
B July 12
c JULY 11
D July 10
E None of the above
Correct Answer A
Marks 1

49 Question Description Which bank has launched India's first 24x7 video banking service?
A HDFC Bank
B AU Bank
c ICICI Bank
D State Bank of India
E None of the above
Correct Answer B

Marks 1



50 Question Description Which state will host the 69th edition of the Filmfare Awards in 20242

A Goa

B Bihar

c Odisha

D Gujarat

E None of the above
Correct Answer D

Marks 1



51" Question Description Study the following questions carefully and choose the right answer:
Statement :
A sentence in the letter to the candidates called for written examinations —You have to bear your expenses on travel etc.’
Assumptions :
L. If not clarified, all the candidates may claim reimbursement of expenses.

II. Many organisations reimburse expenses on travel to candidates called for written examinations.

A if only assumption I is implicit
B if only assumption II is implicit
c if either I or II is implicit

D if both I and II are implicit

E None of the above

Correct Answer D

Marks 1



52 Question Description Which Pair does NOT belong with the others?

A 81, 63

B 24, 48

(@ 21,15

D 13, 39

E None of the above

Correct Answer A

Marks 1

53 Question Description In the word “DUTIFUL”, how many pair of letters has as many letters in between as they have in between them in English alphabet

series?

A 0

B 1

Cc 2

D 3

E None of the above

Correct Answer C

Marks 1



54 Question Description A jogger running at 9 kmph alongside a railway track in 240 metres ahead of the engine of a 120 metres long train running at 45

kmph in the same direction. In how much time will the train pass the jogger?

A 3.6 sec

B 18 sec

c 36 sec

D 72 sec

E None of the above
Correct Answer C

Marks 1



55 Question Description Directions: Read the following information carefully and answer the questions given beside.
Six children are playing Hide & Seek in a park and were standing at different positions such that P is 9 m towards the north of T. Q
is 4 m to the west of O, who is 12m to the east of T. U is 6 m to the south of Q. R is 3 m to the north of O. Then few of them moved
and their new positions are denoted by adding ( * ) to their respective names. P moved 5m towards east. O moved 3 m towards the
east. Q moved 5 m towards the north.

Who among the following is in north-east of U?

LP
II. O
III. R
A Only I
B Only II and III
c Only I and IT
D Only III
E None of the above
Correct Answer B

Marks 1



56 Question Description Group the given figures into three classes using each figure only once.

F[o[e

Lo DA

ol @)
7 8 9
A 1,3,9;2,5,6 ;4,7,8
B 1,3,9;2,7,8;4,5,6
C 1,2,4;3,5,7;6,8,9
D 1,3,6;2,4,8:5,7,9
E None of the above

Correct Answer A

Marks 1



57 Question Description Which Answer Figure will complete the pattern in the figure?

A A
B B
c C
D D
E None of the above
Correct Answer D

Marks 1



58 Question Description Statement: Exporters in the capital are alleging that commercial banks are violating a Reserve Bank of India directive to operate a

post shipment export credit denominated in foreign currency at international rates from January this year.
Courses of action:
I. The officers concerned in the commercial banks are to be suspended.

II. The RBI should be asked to stop giving such directives to commercial banks.

A Only I follows

B Only II follows

c Either I or II follows

D Neither I nor II follows
E None of the above
Correct Answer D

Marks 1



59 Question Description Directions: The questions are based on five words given below:

FOX JUG BAT MIX SIT

If the second alphabet in each of the words is changed to the previous alphabet in the English alphabetical order, in how
many words thus formed will an alphabet appear twice?

A One

B Two

(o Three

D Four

E None of the above
Correct Answer E

Marks 1



60 Question Description Select the one which is different from the other three responses.

A 68-25
B 71-28
c 59-43
D 51-32
E None of the above
Correct Answer C
Marks 1
61" Question Description The angle between the minute hand and the hour hand of a clock when the time is 8.30, is:
A 80°
B 75°
c 60°
D 105°
E None of the above
Correct Answer B
Marks 1

62



Question Description . .
What comes in place of question mark?

I S

X

m | [HXS (2)
PPN | /s
|
1t
@) |PRXC (4)
=

A 2
B 4
(@ 1



E None of the above

Correct Answer A

Marks 1



63 Question Description Directions: Following questions are based on the five three-digit numbers given below:
284 312 437 585 696

If all the digits in each of the numbers are arranged in descending order within the number, which of the following will be the
highest number in the new arrangement of numbers?

A 284

B 312

c 437

D 696

E None of the above
Correct Answer D

Marks 1



64 Question Description Directions: In each question below there are given some statements followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide
which of the given conclusions logically follows/follow from the given statements, disregarding commonly known facts.

Statements:

No laptop is apple.

Not a single apple is mobile.

Every mobile is tablet.

Conclusions:

I. Some tablets which are mobiles are laptops as well.
II. Some tablets are not apples.

A Only II follows

B Either I or II follows
c Both I or II follows

D Neither I nor II follow
E None of the above
Correct Answer A

Marks 1



65 Question Description Select the missing number from the given alternatives:

4 |49 37
52 7 441
58 35 |53

A 66

B 55

(@ 77

D 46

E None of the above

Correct Answer C

Marks 1



66 Question Description Directions: The below mentioned question is to be answered using the statements I and II given below. You have to determine the

statement(s) which is/are sufficient to answer the question and mark the option accordingly.

If the code for “pain’ is 20 then find the code for “loss pain no gain”?
Statement I : “loss money gain nothing” is coded as 25 78 41 63 and “nothing loss no profit” is coded as 58 41 36 25.
Statement II : “gain weight no health” is coded as 21 78 36 14 and “no exercise health loss” is coded as 57 36 14 25.

A If the data in statement I alone is sufficient to answer the question

B If the data in statement II alone is sufficient to answer the question

c If the data in statements I and II is necessary to answer the question

D If the data in statements I and II is not sufficient to answer the question
E None of the above

Correct Answer C

Marks 1



67 Question Description A watch which gains uniformly is 2 minutes low at noon on Monday and is 4 min. 48 sec fast at 2 p.m. on the following Monday.

When was it correct?

A 2 p.m. on Tuesday
B 2 p.m. on Wednesday
c 3 p.m. on Thursday
D 1 p.m. on Friday
E None of the above
Correct Answer B
Marks 1

68 Question Description Find out the wrong number in the series 125, 106, 88, 76, 65, 58, 53
A 125
B 106
c 88
D 76
E None of the above
Correct Answer C

Marks 1



69 Question Description P and Q begin with the assignment and finish a particular part of the work. R works alone on the remaining 3/5 of the project. They

are paid a total of 640 Rs for the complete work. What should be R's share in the earnings?

A Rs. 256

B Rs. 340

c Rs. 384

D Rs. 420

E None of the above
Correct Answer C

Marks 1



70 Question Description Find the odd man-out

2880, 480, 92, 24,8, 4,2

A 2880

B 480

(¢ 92

D 24

E None of the above
Correct Answer C

Marks 1



71 Question Description
In the question, a piece of paper is folded and cut as shown below in the questions figures. From the given option figure, indicates
how it will appear when opened.

A ol
A A
B B
c C
D D
E None of the above
Correct Answer D

Marks 1



72 Question Description Directions: Following questions are based upon the word series given below.
DEN, RAT, EAR, OWL, CUB
If E is added in the end of the words that start with consonants and B is added in the beginning of the words that start with vowel
then how many meaningful English words can be formed so?

A 2
B 5
Cc 3
D 4
E None of the above
Correct Answer D

Marks 1



73 Question Description Robert is travelling on his cycle and has calculated to reach point A at 2 P.M. if he travels at 10 kmph, he will reach there at 12
noon if he travels at 15 kmph. At what speed must he travel to reach A at 1 P.M.?

A 8 kmph
B 11 kmph
c 12 kmph
D 14 kmph
E None of the above
Correct Answer C
Marks 1
74 Question Description On 8th Dec, 2007 Saturday falls. What day of the week was it on 8th Dec, 2006?
A Sunday
B Thursday
Cc Tuesday
D Friday
E None of the above
Correct Answer D

Marks 1



75 Question Description Study the following questions carefully and choose the right answer
Statement: Should private sector be permitted to operate telephone services?
Arguments:
I. Yes. They are operated in advanced western countries.

II. No. It is risky to put them in private hands.

A Only 1 is strong

B Only 1II is strong

c Either I or II is strong

D Neither I nor II is strong
E None of the above
Correct Answer D

Marks 1



